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QUESTION 1

Which two actions occur when a Shell is transitioned to Active status? (Choose two.) 

A. Workflows restart. 

B. Accepted Business Processes return to action Forms. 

C. Accepted Business Process Forms become View Forms. 

D. Scheduled jobs are cancelled. 

Correct Answer: AD 

 

QUESTION 2

Which statement is true about Groups? 

A. They can have managers who are not members. 

B. They can have duplicate names. 

C. They can be renamed. 

D. They can be deleted. 

Correct Answer: CD 

 

QUESTION 3

What is a resolving Condition? 

A. a problem-solution statement within uDesigner 

B. a path that is taken if a condition does not trigger 

C. a picker that auto-populates data within a workflow 

D. a solution that is created within linked fields in Forms 

Correct Answer: B 

 

QUESTION 4

View the Exhibit. 
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You want to set up a BusinessProcess. You navigate to this screen. However, you do not see the Business Process that
you want to set up. 

A. The Business Process does not exist. 

B. The Business Process has not been activated. 

C. The Business Process does not have a beginning or an end step. 

D. The Business Process does not have users assigned. 

Correct Answer: D 

 

QUESTION 5

Which two statements are true about Base Currency? (Choose two.) 

A. It is the default currency used on a Shell. 

B. It is the currency used as the standard currency for a Company. 

C. It is the currency used on a particular transaction within a Shell. 

D. Itis the currency used in the Company Cost Sheet. 

Correct Answer: AB 
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